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VR R/ NG N= 1 W= 56.9 | 1f&HTH4Y
TEEEAF EN= 4| 4-W=| 227.6| &HEUY
5;%%&%%%3@%-%% (kg/#H)
F /AR VR M E AL FI0TW [HTB M22 120 | #A 48 0.70 33.6
fif#E ASh| F1I0TW [HTB M22 130 | #A 42 0.73 30.7
fi# AGh| F1I0TW |HTB M22 135 | #A 48 0.75 36.0
/NEF N= 1 W=|  100.3 | 1f&AT4Y
(i EN=| 16| 16-W=| 1604.8 | 44FH4Y




6. MTTRE# F6 L O SCRr A U 4
DHTEEE S, 5 @A LR TR -Tyyy—(M12 X 60, SS400)
N= 14 X 4
= 56 %A

DMIEREIRE . BB AP —h (M12 X 30, SS400, & 71 A3-fE)
N= 57 + 57
= 114 &

SVHA R F S AR L (M12 X 55, SS400, HDZ35)
N= 57+ 57
= 114 A

TRBEE A A M
DARZHEI Ry 7Ty b T —/ S — e (R H R IEER D22 )
N= 42+ 65+ 42+ 65
= 214



8.ar7J—Fh

1) k= 70— (S EY . 30-12-25, BB, W/C=50%) ¥ 47 L= 2V — & G E) 251,

6 450
AER
400 200 400
Havyy—+t
-+ o
o g |
T = /7
2 = 2R
o o
: STV A 1
1000
899 H MR 7@810=5 670 890 1150
NO.19+ 9.450 A1{v & Wi Havs Y- FEHER
6 450 Hhavsy—4
600 5 250 600
3
- 2 ~N v 906. 060
o _4.0% o
=3 I B
E 2
e e ®®®® ® 1
399 H$A#7RSIPR  70810=5 670 899
NO.19+11.900 ~ NO.20+8.650 A2/ {& Wi
Al= 0.550 X 6.450 = 3.548 m?  (PRRKRED)
iy (0.054 +0.264 ) / 2 X 5.250 = 0.835 p?  (HE=ACohi)
S
A3 (0.050+0.260) /2 X 5.250 = 0.814 % (¥ A(Cobliz)
A 4= (0.100 X 1.150 - 0.019) = 0.096 1> (EHEES)

V1= 3.548 X19.200
= 68.122 p®

V2= (0.835+0.814) /2 X 2.150 + 0.814 X 17.050
= 15.651 p®

V3= 0.096 X 6.450 X 2
= 1.238 p’

68.122 + 15.651 + 1.238

= 85.011 p®

zV

D7) — (RS 24-12-25, B-B, W/C =55%)
V = 0.600 X ((0.304 + 0.300 + 0.514 + 0.510) / 2 X 2.150 + (0.300 + 0.510) X 17.050)
= 1933 3



9.8 P (GRCHIFE)

1) TYPElL B513 X 11000
N =112 #
1) TYPE2 B513 X1.450

N =14 £

11, _ETFHEBRHE T
L= 6.450 X2

12,8 5 (M7 L - IR )

D22 2046 kg (SD345) RUHIEEET
D19 1820 kg (SD345)

D16 2085 kg (SD345)

D13 1805 kg (SD345)

&5t 7756 kg

150 500

10780 P
1) AR « i A (3 8 2R A )
6 450
600 5 250 600
Al A1
A22
A21 A41, A42 o
AN = <
= |
I -=]J= ==A=- -=A=- -=l=- -=L=- -=L=- I 3
== m QJ m SJJ m =4J LL |
WO e ® DS ®D D o
1 7
A7
890 H $l#rRAFE  70810=5 670 390
Mg PN Al = 0.250 X (19.000 + 19.000 )
T SMA A 1) A21 = (0.854+0.850) /2 X 2.150 + 0.850 X 17.050
Mg SMA ) A22 = (1.064+1.060) /2 X 2.150 + 1.060 X 17.050
JEER (BE(AFH) A3 0.187 X 16.900 X 2
AV RSP A4l 3.548 + 0.835 SENYORMNGYE N
AfHISEE R IR B A42 3.548 + 0.814 SENORMNGYE N
BEAmEAST A 0.100 X( 6.450 + 6.450 )
BEEA MEI A6 0.100 X 1.150 X 4
e 1 Vi o JES 50 AT 0.150 X ( 6.450 + 6.450 )

ZA

9.500
16.324
20.356

6.321

4.383

4.362

1.290

0.460

1.935
64.931

3 8. 8.8 8 8 8 8 8 B

(N

12.900 m

(N

(N

(N

(N

(N

(N

(N

(N

(N




13 A% L
7 B T (S — LA FEHE) t=20mm
L = ((0.300 + 0.600 + 0.300 ~ 0.15) + (0.510 + 0.600 + 0.510 — 0.15)) X 3
= 7.560 m

L4 A5 FA B
ik ARG M Gr-C-2B-5
L = 19.000 + 19.000
= 38.000 m

15. 482 T
SEETEAE oo ) —REIE T N DR

A = 5.305 X 19.000
= 100.80 2
16.FGmBhK T

ek —bhR

A = 5.305 X 19.000

100.80 m?

IKNAT $18

L = 19.000 -+ 0.500 X 2
= 20.000 m

FFEREALE v D22 EEMRR L42 aludHy
= 120 1{H



17 2 S5B5E T ({55 2 35)
L = 19.000 X 2
= 38 m

B R E(BT-2004H Y | AL —H—iAH)
N = 1H

184+ T
BT BEIRL,2.5<W
Vo= (3.00 + 25.75) X22.0 /2
= 316.3 m3

19.453% T
X PR ERTE - H 5 (22x1524x3048, U — AH[H60 H)
A = 17.0 #

K L0 BE -G -k
N = (22.0+8.8) X 5+1)/2

° o
sl / o’y
N
: #%
Do © (
SO 7 Aoy [
=< 7/m >
’ - <Y
s ?// Seo ¢
~ VN -
o j 0| Z/ r is;j;% &'ﬁ{
e 7/ E 7€
Ll o / g {{ff
=== e e
=== n ////LZW 2 f?
S i i |
SEEEES I €
=== _////7 //// -~
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